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,qM:: PART - A

a. ,u,Determine if the gra56gngrh LR(l) or not***" (10 Marks)
b. Determine if tne [rAry.r is LALR or not.' (10 Marks)

."- PART. B
5 a. Define ry",,qfJifud atkibute, inhffihattributes and attribute grammar. (03 Marks)

b. Write a SDd,,bnd annotated pars€itree for u*s for below grarnmar suitable for top-down
parser.
T -+ T*F/F *,'Ft-;:::,::

F + digits -*,: (07 Marks)

c. Construct a slmtax tree;,for expression a*b-c using the grammar
E -+ E +r /E-T1.I
T -+ (E)/id/nffi', (06 Marks)

d. What is the need 6r eliminating left -recursion? Eliminate left recursion from SDT

ia !R(U or not*."

(06 Marks)
(02 Marks)

E + E+.1{pfint(+')}
u-ffi;ff

',, '

I of2

at least TWO g4ations from each parl

a. Discuss the various phaspqofalompiler, show the translation for an assignment statement
position: initial + ratffiGdearly indicate the outpw.ofeach phase. (12 Marks)

b. Write regular definitiod for an unsigned number, alffi draw transition diagrams for the same.
'h,

Write a brief nooron'$bience involved in bui{di*g a compiler.

" l.sr2 a. What is leftir eursion? Eliminate left recui$iotr from the following grammar :

,*.*" 
t'

B+Befb. ; , (osMarks)
b. What'i$Tbft factoring? What is itd.dvantage? ='.fu;* (05 Marks)
c. Explain the rules/steps to calculate FIRST and FOLI_O!&. .'t. (06 Marks)
J Ev-l-i- am,6+6^ad i- .'*+^- ^-^l',-:-

vvuD.svr \+w rvrrv wurS Stour4rYl _h

i]ffrr u.* 
*

d. Explain error recovery stages_in syntax analysis. r,*.il , __. (04 Marks)

3 a. Write an algorithm to 8o$ibtiuct predictive parsEr table. Construct p predictive parser table
for grammar given.in Fig. Q2 (c), and parsetlie string w = int..*},n (r2 Marks)

b. Define handle, handle pruning with example." (03 Marks)
c. What are the -acfidris a shift-reduce=ry makes? Write'ffi parse tree and shift-reduce

:

configurationr- fir$ih" derivation"S$e,BxAz = crBxyz%? aoyr. (05 Marks)
ffitu' "t #4[

. 
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4 Considerthe following grammer 
" 

.r

(04 Marks)



ry

t into three

in the activation

while designing

10cs63

(06 Marks)

(09 Marks)

(05 Marks)

record with
(10 Marks)
(05 Marks)
a garbage
(05 Marks)

(10 Marks)
(10 Marks)

,ffiW
.r $*s&

s "*d

6 a. Write synta( directed definition for flow of contr##Bments
i) s -+ if (B) sl 4.ry
ii) S + while (B) Sl mq6;**'

b. Explain the following with an examplet ffi
i) QuadraPles - %P

4#nw##

!$" d;:]h, 3
!wF
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,1ffiws*

fu*$& -

ff

iD Triples
iil) Indirect triPles.

c. Translate the given, assignment

7a.

b.
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What is an activation recffi-ffiplain the purpose ok## item
"d tP - r"iv

iXffi#;"rirabte r.*mS,memory maraser. @"
rxpt"in briefly dWrformance mehics 

ffi, 
considered

collector. fl& *.E;en &*
Explain isg&aibfdesign of code generator. *"

nii",,"*# ffit oa. of ootimizationqffisic blocks.
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